www.rodavigo.net +34 986 288118

Servicio de Att. al Cliente

iy
Linear Motion. Optimized.”

Dimensions Projection  Online Sizing & Selection!

Accessories METRIC www.LinearMotioneering.com
Non-driven Linear Motion Systems

» Ordering key - see page 211

WH40N » Technical data - see page 78

L tot= Smax+ 140 =1
120 40
T el T (60
| _ T |
q y 5
hiE 1 - 1 =
~
BECHERCa
24
A3 40 @
A2
8X M5
Al
RS ‘ © O
i T3 T 5 3 T
DD T
(o] ~r [ce]
— — OO0 —H—=x | I
1. - P ‘ —P- 1
g 2 g 2 ! } N
U
54 40
100 54
A1: depth 10 A3: socket cap screw 1S04762-M5x12 8.8
A2: lubricating nipple on both sides DIN3405 D 1/A
» Ordering key - see page 211
WHB0N » Technical data - see page 106
L tot= Smax+ 260 #1
240
| T o] | _
ig}
O Q) 1) 3 g
I i H &
=)
8x MbH "
A2
Al Lx M6
Al
& —d il M B & ——+
¥ = L] + Ty =
1 co0o o006 oz e
4 B3 == =Y = B
B dJd | [l ()
64 40
94 54
192
A1: depth 10 A3: socket cap screw 1S04762-M5x12 8.8
A2: funnel type lubricating nipple DIN3405-M6x1-D1
170 www.thomsonlinear.com

Poligono Industrial O Rebullén s/n. 36416 - Mos - Espafia - rodavigo@rodavigo.com



www.rodavigo.net +34 986 288118

Servicio de Att. al Cliente

Dimensions Projection  Online Sizing & Selection!

Accessories METRIC www.LinearMotioneering.com
Non-driven Linear Motion Systems

» Ordering key - see page 211

WH80N » Technical data - see page 108

Ltot= Smax+ 300 #1
280 110
o T O
—— e o S A 0\ s | 3
o~
T T——————— —— T TH o | o @
o~
80 -
A2
A3
8x M5 4x MB 4x M8
Al Al Al
Bl T 1 -1
[ bl b 5 1
I = 3 8
i —1p
o O | 1] LI
80 50
94 68
134
208
Al: depth 12 A3: socket cap screw 1S04762-M6x20 8.8
A2: funnel type lubricating nipple DIN3405-M6x1-D1
» Ordering key - see page 211
WH120N » Technical data - see page 110
Liot= Smax+ 300 #1
T-Nut
280 164
175
\ [l I \ E=S E=S
— = (fo ) |
N RN
N0 e O RSN,
T T1 T TH Moy | o) N |
© 0
66
A2 T-Nut
12x M8 4x MB A3 120
Al Al
@0l \ A & o
= A * R I
& s
o600 - ik
i d b 3 b
& O] |
80 50
94 80
140
240
A1: depth 12 A3: socket cap screw 1S04762-M8x20 8.8
A2: funnel type lubricating nipple DIN3405-M6x1-D1
www.thomsonlinear.com 1M

Poligono Industrial O Rebullén s/n. 36416 - Mos - Espafia - rodavigo@rodavigo.com



www.rodavigo.net +34 986 288118

Servicio de Att. al Cliente

[T/ THOMSON'
Linear Motion. Optimized.”
Dimensions Projection  Online Sizing & Selection!

Accessories METRIC www.LinearMotioneering.com
Non-driven Linear Motion Systems

» Ordering key - see page 211

WM40N » Technical data - see page 14

Ltot= Smax+ 200 #1

Smax+ 170 #1
4 160 5| 40
= B =F T D
T 4 1@ | & é}‘ | ‘Q;
0 [ B
S f @ﬁ N4 o
T T ™~
AT B ] H 0 |
mn
A3 40 l6))
12xM5; A1
A2
e d ‘ & O ——7
M A T
. N _ (DD © <| ©
\J IPANY o e
" > | < < G | N
} m
@ @ N
22 40
54 54
130
Al:depth7 A3: socket cap screw 1S04762-M5x12 8.8
A2: lubricating nipple on both sides DIN3405 D 1/A
» Ordering key - see page 211
WMG60N » Technical data - see page 18
L tot= Smax+ 360 #1
40 Smax+ 280 #1 40
45 260 12 53 10
n T+ 1114 ® KT 1 + | = r I
in =T 1. Flo o of o
HHT T T HWHH =S S
12x M6; Al 60
A2
55
() H LM [ 7
H T onh  gwno =
HH————4 ————P-¢ NI
= Bt | @900 | QoD | 4 ==
O Y
74 50
O a3 92 68
D AL 240
Al: depth 11 A3: tapered lubricating nipple to DIN71412 AM6
A2: socket cap screw 1S04762-M6x20 8.8 A4: can be changed over to one of the three alternative lubricating points by the customer
172 www.thomsonlinear.com

Poligono Industrial O Rebullén s/n. 36416 - Mos - Espafia - rodavigo@rodavigo.com



www.rodavigo.net +34 986 288118

Servicio de Att. al Cliente

Dimensions Projection  Online Sizing & Selection!

Accessories METRIC www.LinearMotioneering.com
Non-driven Linear Motion Systems

» Ordering key - see page 211

WMBG6ON with Single Short Carriage » Technical data - see page 20

Ltot= Smax+ 300 #1

20 Smox+ 220 &1 20
45 200 12 59 10
| T T & 1
o Flo P o o
THH———_ M 8 g @ @ t([\ «©
| [l ] [V Te | & N
8x M6, Af 60
4’“* A2
55

j
|

FRE [ +@ T €% 4 T
- NS {7 <] ©
<) 3 ~| ©
LYE (o0 4® . @+ 0 1\
o o [:J)
O A3 80 50
180 68
DY
Al:depth 11 A3: tapered lubricating nipple to DIN71412 AM6
A2: socket cap screw 1S04762-M6x20 8.8 A4: can be changed over to one of the three alternative lubricating points by the customer

» Ordering key - see page 211

WMSON » Technical data - see page 24

[ tot= Smax+ 400 #1

50 Smax+ 300 #1 50
45 280 12 79 10
B 4T LTI Tel 0T T Tl ==
1 T T T T — @' 5 l@
0 0 g
ol o DHLAD o <
D oo N A
= - - — 2
—JHT T T THH e | o =
12x M6; A1 A2 80
55 Ml
Bl ‘ ‘ ; i ; ‘ IS oF—
— | Y, O D OnD o —
h ol . ~ g
TS| o| @
. == FanY Fan) B ]
— il | \@ @\ N —1
B o Y
70 50
O A3
94 68
DAL 258
A1: depth 12 A3: tapered lubricating nipple to DIN71412 AM6
A2: socket cap screw 1S04762-M6x20 8.8 A4: can be changed over to one of the three alternative lubricating points by the customer
www.thomsonlinear.com 173

Poligono Industrial O Rebullén s/n. 36416 - Mos - Espafia - rodavigo@rodavigo.com



www.rodavigo.net +34 986 288118

Servicio de Att. al Cliente

Tremmeec I
Linear Motion. Optimized.”

Dimensions Projection  Online Sizing & Selection!

Accessories METRIC www.LinearMotioneering.com
Non-driven Linear Motion Systems

» Ordering key - see page 211

WMB8ON with Single Short Carriage » Technical data - see page 26

Ltot= Smox+ 320 #1

20 Smox+ 220 1 _20
45 200 7 12 79 10
M 4 J* i *l A=
- 1 1 - ( ) 5 ( >
0 ol 8
L - ol s P o| &
| o OT@
7 7 7 T ! <
- il [ il [ - e &) S
8x M8, Al 80
55 A2
Bl ‘ ) ‘ & oF—
= b v O T Ob =
419 - P b @] ~| ©
<) I} ol @
= ==
L™ i ﬁ@ @ﬁ - I\
© o i)
100 50
O a3
180 68
DY
Al: depth 12 A3: tapered lubricating nipple to DIN71412 AM6
A2: socket cap screw 1S04762-M6x20 8.8 A4: can be changed over to one of the three alternative lubricating points by the customer
» Ordering key - see page 211
WM120N » Technical data - see page 34
Ltot= Smox+ 460 #1
60 Smax+ 340 +1 60 19 n T-Nut 1 g
45 320 12 50
T-Nut 1
BN
I IRREACARRE Eels |
= = eolelo
“ N 0| g 16.5
ek T 7 TNU 2
— | &~ -Nul
EHT ; { THHE rr% r? 16.5
©
4x M8, A1 80
12x MB; Al A2 120 T =
T-Nut 2 EL
6.5 |
0],
T T ﬁh T T Ie I
L Y A ]
8 5 8
1N 17 L T L J\ L T L T " |
© O v
70 50
O a3 94 80
oy 200
258
A1: depth 22 A3: tapered lubricating nipple to DIN71412 M8x1
A2: socket cap screw 1S04762-M8x20 8.8 A4: can be changed over to one of the three alternative lubricating points by the customer
174 www.thomsonlinear.com

Poligono Industrial O Rebullén s/n. 36416 - Mos - Espafia - rodavigo@rodavigo.com



www.rodavigo.net

Servicio de Att. al

Accessories
Non-driven Linear Motion Systems

M75N

L tot = S max + 283

Dimensions Projection

METRIC 6@ www.LinearMotioneering.com

Online Sizing & Selection!

» Ordering key - see page 212
» Technical data - see page 42

]

6 S max + 218 6
218 24,5
]
144 2
—l

m, S
(D) 3

B|gf
| _& tA
T S— : - molltorrs
» 3 M M 86
6x M8
A5 A6
o d B & ——
3 (H S R =
| ol ©
H - — - — ] L — == gl--— -4 | N Iy g
i . I EE
= e @ = 1=
_d g
106 60
75
Al: slide guide tensioning holes g6 (MGO7N), lubrication holes g10 (MFO7N) A4: 326 (MGO7N), 346 (MFO7N)
A2: 177 (MGO7N), 127 (MFO7N) A5: depth 8 Heli coil
A3: 24 (MGO7N), 43 (MFO7N) A6: 9135/ @ 8,5 for socket head cap screw M8
» Ordering key - see page 212
M100N » Technical data - see page 44
L L tot = S max + 376
I7 S max + 306
. 306 , %
198 I
i == N
r— )
! I L@) g £
' A ' T
[l i i il E:&MT"Q . \ b
A2 2 M M 108
6x M10
AS A6
[ ] 4 ° ™ =
CH : e
{1__ ......... . ._°.|4,._.+_3_.¢.|_.._|_ — :E gl
= Nk Y Y H :
S O S 5
142 60
92

A1: slide guide tensioning holes g6 (MG10N), a10 (MF10N)
A2:127,5 if Ltot <=1055mm,

2215if Ltot > 1055mm (MG10N), 292,5 (MF10N)
A3: 34,5 (MG10N), 56,5 (MF10N)

www.thomsonlinear.com

A4: 1275 if Ltot <= 1055mm, 377,5 if Ltot > 1055mm (MG10N),
292,5 if Ltot => 755mm, no hole if Ltot < 755mm (MF10N)

AS5: depth 10 Heli coil

A6: 217/ 2 10,5 for socket head cap screw M10

175




. www.rodavigo.net

Servicio de Att. al Clie

[T/ THOMSON'
Linear Motion. Optimized.”
Dimensions Projection  Online Sizing & Selection!

Accessories METRIC 6@ www.LinearMotioneering.com
Non-RediMount Linear Motion Systems

» Ordering key - see page 193

WM40 » Technical data - see page 4 - 17
49
8 29
©
<
SN |/ T
P D = | S— : o
< — — R
0 3= o)
X pay /
8 / 31
s 25 3
40
» Ordering key - see page 193, 194
WM 60’ WVGO » Technical data - see page 18 - 23, 30
87
=19 50
©
°
T
© i N <'\.\
© ' ___J >
S —1 g /
>< 7/
T2
ol 130 3 L1147
LO
© 60

176 www.thomsonlinear.com




g

www.rodavigo.net

Servicio de Att. al Clien

Accessories

Non-RediMount Linear Motion Systems

WMS80, WV80

i~ 87
c

8 12 55

|
S| - =
X 7
~t — -/

o)) 4
<
IQ 30 3
S
WM120, WV120
107
25 52

e

&

s { )
5 =
R f —H dbB==

o —
(o]

[ee]

s| 40 3

www.thomsonlinear.com

Dimensions Projection  Online Sizing & Selection!

METRIC

6@ www.LinearMotioneering.com

» Ordering key - see page 193, 194
» Technical data - see page 24 - 27, 32

40

» Ordering key - see page 193. 194
» Technical data - see page 28, 32

74

171



Servicio de Att. a

[T/ THOMSON'
Linear Motion. Optimized.”

Dimensions Projection  Online Sizing & Selection!

Accessories METRIC 6@ www.LinearMotioneering.com
Non-RediMount Linear Motion Systems

» Ordering key - see page 195

MLSMGOD » Technical data - see page 36

60
< 20
0
s| | y
o e — ] 7
> 1 N l—- ,
x K
~ [s0] /', N~
L ™
o
s 160
43
30

» Ordering key - see page 195

MLSMSOD » Technical data - see page 38

2 20k6
l
hil

= b AN J

© = 5
=  — O © ~
X © /7
~F L /

= 075

[e)

Q 240

A4
30

178 www.thomsonlinear.com




www.rodavigo.net +34 986 288118

Servicio de Att. al Cliente

- Dimensions Projection  Online Sizing & Selection!
Accessories METRIC £ www.LinearMotioneering.com

Non-RediMount Linear Motion Systems

» Ordering key - see page 196, 201
M55 with ball screw drive » Technical data - see page 40, 70

- M5x08 3,5
X 2,5 20
4 _
i
= [ - 4
g O ) IR |
! |
s d .
3 2} 51 1
58 ’ ]
i g
=St -
. M 25 |5
» Ordering key - see page 196, 201
M75 with ball screw drive » Technical data - see page 42, 72
H-_: eat B M6 x 1.0 >< 3,9
30, 25
In m|
1 |
I Y
i I I e
| lw '
ges 10 !
© | 86 S
]
= % || 5

www.thomsonlinear.com 179

Poligono Industrial O Rebullén s/n. 36416 - Mos - Espafia - rodavigo@rodavigo.com



www.rodavigo.net +34 986 288118

Servicio de Att. al Cliente

Tremmeec I
Linear Motion. Optimized.”

Dimensions Projection  Online Sizing & Selection!

Accessories METRIC www.LinearMotioneering.com
Non-RediMount Linear Motion Systems

» Ordering key - see page 196, 201

M100 with ball screw drive » Technical data - see page 44,74
10 114 1. MBx10 3.5 11
X 35 4, .25

=T

|
|
|
64
#50H8
18
|
|
1

#63 |
© L1l ).
107 © |
32 5 |
» Ordering key - see page 202
WH40 » Technical data - see page 78
60
—
(Q\]
(Q\]
(032 40
037 H7
A2
22
—
I mppn 3
T ey
LO /
N
28h8
Al: depth 10
A2: depth 3
180 www.thomsonlinear.com

Poligono Industrial O Rebullén s/n. 36416 - Mos - Espafia - rodavigo@rodavigo.com



www.rodavigo.net

+34 986 288118

Servicio de Att. al Cliente

Accessories

Non-RediMount Linear Motion Systems

WM60Z

g5
4XM 6
A1l
// 1)
o) 7 i
w| © ¢ ) __|__:
[Te) ~+ — &
i5 | 60
2 47H7
A2
30
Lo | |IJ1 = ’
N | e—
[ = //
212h6
Al:depth 15
A2: depth 4
WMB80Z
120
4xMB
A1
/ — =
0 I 7 -1
9 =5
o o] j m L | m
053 80
@62H7
A2
39
T | I_.E _r //
o - b - -
m H -+ \
1 alH J
216h6
A1: depth 15
A2: depth 2,5

www.thomsonlinear.com

Dimensions Projection  Online Sizing & Selection!

METRIC ==& www.LinearMotioneering.com

» Ordering key - see page 203
» Technical data - see page 80

» Ordering key - see page 203
» Technical data - see page 82

181

Poligono Industrial O Rebullén s/n. 36416 - Mos - Espafia - rodavigo@rodavigo.com



www.rodavigo.net +34 986 288118

Servicio de Att. al Cliente

[TITHOMSON'

Linear Motion. Optimized.”

- Dimensions Projection  Online Sizing & Selection!
Accessories

METRIC www.LinearMotioneering.com
Non-RediMount Linear Motion Systems

» Ordering key - see page 204, 206
M55 with belt drive » Technical data - see page 86, 98
M5x08_1 3,9 -l e
H X 2,5 20
r‘_ 1
=
1 &
|
= & 1
- =Y I
- X
<
ha 28 |2
» Ordering key - see page 204, 206
M75 with belt drive » Technical data - see page 88, 100
M6 x 1 X 3,5 .
3, %
I
=
116 (I |
190 |
|._.|__.| r
1. - -
' <2
._i _______ S 32 i)
. =
T = -
I'—J.-—ﬂ
5

182

www.thomsonlinear.com

Poligono Industrial O Rebullén s/n. 36416 - Mos - Espafia - rodavigo@rodavigo.com



www.rodavigo.net +34 986 288118

Servicio de Att. al Cliente

Linear Motion Systems

Dimensions Projection  Online Sizing & Selection!

Accessories METRIC www.LinearMotioneering.com
Non-RediMount Linear Motion Systems

» Ordering key - see page 204, 206

M100 with belt drive » Technical data - see page 90, 102
M6 x 1 3,5
- -
X 3k )_25k
)
2| T !
S| © I
2
= |
) at
‘ L
4 | ‘l//
| * ©
| :
1 = S B 32 || .5
5
» Ordering key - see page 205
MLSM80Z » Technical data - see page 92
- 100
<
o 87
=
O
SR
0 g .k d
& I - 7@ 7; —3
74 240 3
077F8; A2
]
1
|| 7
o /
9 J
2 20kB
A1: depth 18
A2: depth 4
www.thomsonlinear.com 183

Poligono Industrial O Rebullén s/n. 36416 - Mos - Espafia - rodavigo@rodavigo.com



+34 986 288118

Servicio de Att. al Cliente

www.rodavigo.net

[TITHOMSON'

Linear Motion. Optimized.”

Dimensions Projection

METRIC =& www.LinearMotioneering.com

Online Sizing & Selection!

Accessories
Non-RediMount Linear Motion Systems

» Ordering key - see page 206
» Technical data - see page 96

M50

B M5 3,5

A ; X 3 20
14 L /
7 4—
He— = !
. P o ; 3
eg [~
340 50 Flaret | I
| T1s T
62 2 [
120 r
/'/ L
T ; |
I
s 28 1
A — =
I | 1 //
4
Al:depth 8,5
» Ordering key - see page 207
WH50 » Technical data - see page 106
g5
4Lx M5
A1
n
ig}
Te) O
[Q\]
@ 47H7
A2
39
\ [
| A
Te) /
N
2126
A1: depth 10
A2: depth 3
184 www.thomsonlinear.com

Poligono Industrial O Rebullén s/n. 36416 - Mos - Espafia - rodavigo@rodavigo.com



. www.rodavigo.net

Servicio de Att. al

Dimensions Projection  Online Sizing & Selection!

Accessories METRIC 6@ www.LinearMotioneering.com
Non-RediMount Linear Motion Systems

» Ordering key - see page 207

WH 80 » Technical data - see page 108

130
4X M8
A1
,'I 4
> e ~
075 80
280H7
A2
49
| L=
- ;\
| m: 2
=) 220h6
A1: depth 16
A2: depth 2,5

» Ordering key - see page 207

WH 1 20 » Technical data - see page 110

160
4x M10
A1
g I | — (

& [ ] ]
Soa « — £
[AF—— |

080 '
290H7
A2 120
65
L8 /

9|
~
225h6
A1: depth 20
A2: depth 7

www.thomsonlinear.com 185




. www.rodavigo.net _
Servicio de Att. al Clien
Tronzey
Linear Motion. Optimized.”
Online Sizing & Selection!

Dimensions Projection

METRIC 6@ www.LinearMotioneering.com

Accessories
Non-RediMount Linear Motion Systems

» Ordering key - see page 208
» Technical data - see page 112

MLSH60Z

83
4x M5 Al

1o}
0 2 4
NI '
s 0
2 47H7; A2 Q
66
L = iI’
é\
| :
{+ | /
m /'l
M /
215h6
Al:depth 10
A2: depth 4
» Ordering key - see page 209

» Technical data - see page 116

WHZ50

50 25

4Lx MB
A1

2126

30
_i_.
_!_.

40

047 H7
A2

Al: depth 12
A2: depth 3,5

www.thomsonlinear.com

186




Servicio de Att. al

. www.rodavi
Online Sizing & Selection!

- Dimensions Projection
Accessorles METRIC 6@ www.LinearMotioneering.com
Non-RediMount Linear Motion Systems

» Ordering key - see page 209
» Technical data - see page 118

WHZ80
Lx M8 80 30
A1 ©
e
— N
] ] ©
SN
// | // 'J-_ J-_'
JANN o ==
—— / 2 | B
/ T

’ 075
0 80H7

Al:depth 20

A2: diﬂih 35 AZ

187

www.thomsonlinear.com






